Arew 112 # 2986 (X %)

[ % 7 « § & 4]

¥-297%12p += (BH=)08:00 F4otkés

No |3 =% Ep A3 20
B¢ ¥ FeLIE 100 2% (-) (24 & 8) 08:30
CBALE T LI 100 2 (-) (£ 4 )
B¢ &3 2 10000 = = n’ﬁn—\ﬁ—% (2 A2 %)
CHALE A 10000 2 ¢ HEAERE (2 A3 4)
B¢ 3 210000 = = ﬁiﬁ—% (A2 %)

< BALg 9+ = 10000 2 ﬁnf% (2 4B 2)

B+ 2 % 3000 =

ﬁ
B 9 2 3000 2 ¢ i%rtf#% (£ 4B 1)

B+ 2 2200 =

"I
=2
~my

= R - o

o]
[\
()
()

4
Pt
<y
~my

~

B/~ 7 2200 2 % 5F

B 9P 200 2 (A Bk 8 %)

B¢ 432100 =

Pt
&y
~my

(A B kiz 8 %)

BP9 32100 =

s
<4y
~m

(2 45 mBdh it 8 %)

B¢ 43w 100 &¢I (24 s uBhit 8 2)

vt .

A BALE LS B 100 2 % FEF (A2 EP5iE8 %)
F9 9321002 R (Z A2 P52 8 %)
< HALE F 3 2100 ;}’{%’E% (22 2Pk 8 %)

Y 4 400 2 ¢ TR (517 oPi 8y

F
B¢ F 3 e 400 = = EF
%‘*‘

B¢ 43 400 2% FEB (A Pk 8 %)

L BALg LT w400 2 % TR (Z A 2Pk 8 7)
BT 2400 2 %A E (24 A5 uPkit 8 %)
L ZAk g 93 2400 fzwa;% (5 A »ePd iz 8 1)

B¢ 3w 1500 2 ¢ R (FA e hiz8 %)




No

P

o 3

P

®¥ § 3 21500 = = 5

)

AL

BPEiE8 %)

B¢k F 21500 2 IR

wP g k8 L)

< RALE A G w1500 2 AR

£ AL

BBk it 8 %)

AL

BPEiE8 %)

EA L

BB i 8 %)

$-X91 12p TE (REH=2)13:00 B itk

No | B A P
B+ e 2200 2 2 - (£ 4B~ 2) 13 : 30
W92 2200 2% ik (2 43 7)
Bl 7 e 200 = ¢ g (£ 4 B~ 2)
Bl § 7 w200 2% A-F (£ 4 B~ 2)
B &3 100 = < g (£ 4B 2)
BP9 32100 2= A-F (£ 4 B~ 2)
B9 L3100 2% kR (% 4B 2)
L BALE LG m 100 2 % kR (£ 4B 2)
A R (VUSRS (£ A B 1)
“BALg 9 m 100 2% kR (£ 4B 2)
FP &5 400 2 ¢ F (% 4B 1)
BY § 3 2400 2% A-F (2 4 B~ 2)
R T (% 4B~ 2)
X BALE AT w400 2 7 AR (£ 2B 2)
B9 72400 2% - (5 A2 %)
L LALg 93 400 2% LR (£ 4B 2)
B® &5 2 1500 2 ¢ A% (£ 4B %)
B¢ 9+ 2 1500 = = A-F (2 4B~ 2)
B ¥ k32 1500 2 kR (£ LB 2)
L EALE &3 21500 o & ;i—% (2 AB %)
® 79 F 21500 = = L (£ 4B %)
A EALE T F 1500 2 % A-F (£ 4B~ 2)
F ¢ 93 210000 2 ¢ (£ 4B 2)




No | =X P A K =3
%é’,«r;igs"—l.:sgloooo ;}z;ﬁf (£ 4 B~ 2)
B ¢~ F 210000 = ;% (3 A7)
X BALE ST 10000 2 2 F (248 %)
B+ 2 2(4x100) = * 4 FEF (LA mP b it 8 2)
B ¥ 2 2(4%x100) = & J;E% (£ A ePb it 8 %)
B/~ 7 e (4x100)2 ¢ 4 FEF (XA eBh it 8 4)
Bl § 7 m(4x100)> < 4 FEF (£ 1A eBhit 8 2)
B P & e (4x100)= ® 4 T F (£ A wBbh 8 2)
BP g3 e (4x100)2 = 4 T F (L[5 A 2P b & 8 4)
B0 m(4x100) 2 2 4 TR (£ HA ebdhit 8 1)
A EALE LT m(AX100)2 | g4 R F (XA BB i 8 %)
BP9 E@Ex100)2 = 42 R R (£ A mBh it 8 2)
CERAE TS E(4x100)4 AR (BHAEREES L)
B¢ 93 ELIEA00 2R (D) (£ 4 2 %)
X EAL ¢ ¥ 3 tIE 400 2 ¢ (F) (£ 4 A )
Bl 9 4R £ (4x400)2 ¢ 24 LR (3 BB f)
B YT LR L (4x400)2 T B FEEAE (X BB f)
SBALE T LR EAA00) 2 T R (E R g
oy

$-2X99 13p = (B =)08:00 B hnthdék

No | =X BP L & PR
Bl ¥ & 3000 = ¢ 4% (£ 4 4 %) 0330
B*® § 3000 = = ;L?} (£ 4 4 %)
B~ 2751 CER(-) (544 2)
BT RS S EB(-) (5 4R R)
X BALE LI e 100 2 EBRE(-) (R AR E)

e 932735 110 2% BiF(-) (244 )
BP9 3 el 110 o B (£ 4 A &)
~HA g F 7% 110 BiF() (542 m)
B¢ L 25000 2% A-F (2 4 A )




No |¥ = P X #% B
X BALE AT 5000 o ¢ AR (£ 44 2)
® 79 25000 = 2 AR A )
<~ &€ § 5 25000 ’QEA—% LA L)
B+ " 23000 = & %Eti;i—% E A BT
B9 7 3000 2 ¢ AL F £ 4B 2)
B &2 e 100 = ¢ Fp AN mBhE 8 L)
Bl 92 2 100 = < AfF EA LBkt 8 2)
Bl 7 e 100 = ¢ 95 FF EApePk 8 2)
B § 7 2100 2% F E AN EBh kg L
B+ ez 100 == (-) R AL )
B/ 92 e=38 100 =2 (-) E AN )
o= ez a8 100 &% (=) £ A L)
Bl 97 =38 100 2% (-) £ AL
WY &3 e 400 2 EE R £ A )
B¢ 400 27 R £ A L)
C Bk gL e 400 2 2 BF IR R £ A )
B® 95 2400 2 2 BiF IR AR )
- .9_400'4}%&%51@9?7;?} A L)
CBALE TS w400 2 B R A )

FoA97 13p TE(RP2)13:00 B tad

No | = b A % P
B4z 2100 = ® ;‘i—% (£ 4 B~ 2) 13:30
Bl 3o e 100 = ¢ &g (A2 7)
Bl =7 w100 2 = A-F (2 2B 1)
B9 7 100 2 ¢k (£ 4B 1)
B &3 e 400 2 B AR (£ 4B 2)
B L 0400 22 B AR (£ 4B 2)
X BALE AT 8400 2 2 ER - (£ 2B 2)
B § 32400 = ¢ i F (2 AP 7)
% ¢ 5 3 2400 2??&’%%&“;‘#% (A2 7))




No |¥= HE A K P
&AL € T 3 2400 2?&%‘%&3;‘#% AP 7)
B¢ & 2 800 2 % FEF AN w8 L
B¢ 73 2800 = ¢ fFF A eBgoit 8 2
B¢ A+ w800 < AEF ISR S N A
X BALE ST e 800 < AR A ePgid 8 L
r“S“E’—?.&_EL%%OOQ??E% ALEBEiE8 L
AEALE T 2800 % AEF AL ePfoiE 8 L
B ¢RI o3 200 2% (¢) An e Bgo it 8 L
* EAk g A3 S IE 200 2 % (n) XA )
B+ 2 2 (4x100) = & 4 L% B 2)
BL 72 m(dx100)2 ¢ 454 ik BB )
Bl =7 2 (4x100) 2 = H 4 BB~ 7))
BL T 7 m(dx100)2 © 44 ik BB %)
BP 3w (dx100) 2 ¢ 454 ik BB~ 2)
B? 3 m@dx100)2 ¢ &4 % BB )
B¢ LS B (4x100) 2 ' B4 ;‘i—% fR2~ %)
X BAL g A G (4x100) 2 ¢ A AR A B )
BPT S EEXI00)2 2 A R LB L)
< EALE T 3 2(4x100) 2 ° A ;‘i—% AP 7)
B¢ 5 F et 1500 2% (4) AL )
<~ HAE §F L E 1500 2% () E A )
B ¥ &5 25000 2 ¢ A KA B 7))
B® ¥ 5 25000 2 ¢ g4 KA Be )
$¥=297% 14pt= (A8 x)08:00 F4-teék
No |# =% i y: A S peF

B ¥ &3 22000 2 2 Baid- g 2oL 08:30

e ¥ 3 22000 ‘Fﬁf”;‘i—% E L)

BY &3 2 100 2 ¢ B LA b mBdo it 8 %)

F 943 w100 2 ¢ AR Ay Bg 8 L)




No |¥ =< P X R
A EALE AT B 100 2 % BRI (24 A~ uBhif8 2)
Be ¥ 32110 = ¢ B (FA A ePBiz8 %)
#0932 110 2 B R (242 EPhit 8 f)
AEALE T e 110 2 BRI (A5 ePhitg )
B 4 e 9602%??% (£ 42 mBh 8 %)
Bl 7 e k60 = AR (£ 4 A wBg it 8 2)
B4 7 60 = 2 AR (24 2 eBhif8 ¥)
R 9@ 9602%??% (2 A A wBB it 2)
B &3 8200 2= AEF (2 A4 ePbkit8 )
B 95 2200 2R (2 A A Bk it 8 2)
B ¥k F 200 2 %A (£ 4 AeBbit8 z)
A LA gL 200 2 %R (24 2Bkt 8 7)
BP9 FE200 2 FEF (3 A4 mBbit8 ?)
< EALE T3 200 2 ¢ R (£ 4~ uphit8 )
PP 3 e 800 & < gt (£ 43 %)

Bl 752800 2% -k (% 42 %)
F 943 w800 2% kR (£ 4B %)
A BALE LT 8 800 2 % A (£ 4 B~ 2)
® ¢ 7+ 2800 =k kg (2 AB %)
A EALE T 2800 ok AF (2 4B 2)
BloJ &2 e (4x200)2 < g4 g (5 AP %)
Bl § o e (4x200)2 % 44 A (F 1A 28 1)
Bl P 2(4x200) 2 ¢ 4 3 (& 4 2B~ 8 7)
Bl 97 m(4x200)2 ¢ 484 pk g (RS RR8 )
B ¥ &5 e (4x400) = = 454 TR (X FfA 28 1)
B¢ 73 0 (4x400)2 ¢ 454 A (£ A 2B 8 %)
BPL T E(4x400)2 4 E (£ Fia B8 2)
A EALE LT m(Ax400)2 T R R (BRA EP8 L)
F 093 0(4x400)2 ¢ 44 AR (£ F3A 2B 8 %)
FBALE T I m(4x400)2 S FER (B HRAEP8 1)




=299 14p TE(EAPHr)13:00 B4R ér
No |% = HE A #K P

B+ e e 60 2= g (£ 4B 2) 13:30
B 92 m60 22 kg (£ 4B 2)
B~ 7 260 2?;‘#% (X AB %)
BL 77 60 2 kg (£ 4B 2)

B¥ & 2200 2 % (£ 4B 2)
BP9 2200 2% g (£ 4B 2)
;g:’f&;_p_z()())q,i_% (X A2 7)

A LA gL S 2200 2 hF (X A% %)
rsm;_azoo»z,ﬁ-;% (X +A2 %)

L EAE T T 2200 2 AR (= 45 %)
BP & e 100 2 2 B (2 A B 2)

B P AT 100 2 % S A-F (2 4B 2)
FRALg AT 2 100 = AR (A2 %)
BP9 e 110 2 ¢ BiFLp (3 4 B 2)
r@“a:"ﬂll()é\';ﬁ%’fﬁaﬁ—% (X AB %)

< ERALE T e 110 2 ¢ LR (2 % B %)
WP 4327 3 800 = % (7) (£ A Aa =)
B9 A3 e 38 800 2 k(<) (£ 4Aa =)
S EBALE A w0 800 2 % (<) (£ A A &)
Be g7 38 1500 = % (7) (£ AAa =)

(5 4)

(= 4)

(% )

(+4)

B P &5 2(4x400) 2 & 4 A F (£ BB )
B® 95 2(4x400) 2 % 4 L (2 KB %)
B P AT (4x400) 2 g4 LR (3 BB %)




No [ = E B E g
< BAk g A 3 (4x400) > 7 44 e B %)
BP9 E(4x400)2 % 44 AF BB %)
AL T3 e(4x400)2 ¢ 4R L F %)




[= F 77 T F & 2]

¥-% 9% 12p F=(5H=-)08:00 B 41k ér

No | = P A3 20
W9 e mped i (£ 43 %) 08:40
B¢ &S gk g (242 %) 08:40
BJ A0 e g ik - (% AP %) 08:40
Wl 97 gl (5 43 1) 08:40
RERERCR TR (£ 4 B~ %)

R S S (% 4B 2)
LA E A m A (3 4B 1)
GRS Y B (£ 4B 2)
BP Y F e lEpR(c) (1)
X BALE T3 LI piR(D) (% %)
WY 93 msask iR (£ 43 %)

$-X 0% 12pTE(BE-)13:00 B hosk

No | X B A ik peF
R RS (542~ %) 13:40
B¢ LT waank iR (£ 4B 7) 13:40
*EALE LS mphak il F (¥ 485 2) 13:40
R IR & (£ 4B 2)

BP9 ELIAIR(Z) (£ %)
AR g TS e ATR(Z) (%)
GRS IEACR N R (£ 4B~ %)
BY TG Epg (£ 4B 2)
S ERALE T G e AR (A2 1)
Bl & mgnakih R (£ 4B %)
B9 LR (£ 4B 2)
< BALg 9 S MRS LR (3 43 2)
BP9 3wl (n) (£ %)




No | =X BP A K P R
A BALE T I LR () £ L)
SRR S RS A B )
B¢ R E A B2
X BALE A G g L AP

- 93 13pF=(2H=)08:00 R 4ripssr

No | #=X %P A ¥ P R
BP9 eprg g kAR 08:40
IR RS S £ A B 7)) 08:40
B¢ 3 i g kAP 08:40
Bl o e dhapdinig L E AP L)
B9 LGS £ o)
~HAE M- o)
B 97 e g L AP 7))
U Ik S E A B 7))
LA TS marThi R £ A B 7))
BT L AHERF () L)
SEAETFELIEFERE(N) A)
R *c ‘351‘;};)@{@;#% LBz
IR NI g - (g ~)
SERAE AT SRR (D) ~)
Be L+ w7 HEE () <)
UL F e RR (D) ©)
- 5’4.@_4;@#;#% LB )
L BALE T 5 mpsrk R LB L)

10



¥ 9% 13p 7T =2(RH=)13:00 B4R ér

No | #X #P A P
B 97 2=-Bps(c) (3 %) 13.40
B 5o e2=-mps() £ L) 13:40
B 9 e lmprdihF E A B2 13:40
BT e £ 4B 2)

A EALE T ERp AR R AP
BP9 e LEEE(L) 1)
~BAE T FELHERA) ES)
BPRF R TEEIR(Z) = 4)
S BAE ST s B £ 4)
R~ 3 2T 45k2) E )

R N N S

X RALE A G R

E3 R Qé,ﬁgiﬁéﬁ;‘#% (3 4B 2)
BP9+l B3 (2) (% 1)
R/l 7 = S ETR(Z) (2 4)
B+ T ez BAeRTk(D) (£ 1)
BT mpE R (£ 4B 2)
SBALE T T s BphR AR (£ 4B 2)

$¥=X 9% 14p+=(R¥z)08: 00 R hieék

No 3 = P A ¥k FF R
B30 ki (£ %2~ %) 08:40
BPASF e (D) (£ %) 08:40
A BALE MG e EE(T) (£ %) 08:40
BP & e T () (£ 1) 08:40
L IERER S s SR (5 AP %) 08:40
AR ANR L RE (£ 4B~ 2) 08:40
R ¢ -A--?—ﬁg,ﬁ;"éﬁﬁe}l‘;g;‘i_% (2 AP 2)




No =X EP A #K PR
B EFER AR LB ) 09:00
FBALE S EFF G AR LB 7)) 09:00
B LS B A B2
A EBALE N R LB
B© 9327 BpEk(e) A)
B 99 ez meR(2) A
R 92 ez g3%(2) A)
BT ez pE(2) )
B+ 2-Rp5((=) A)
DA Y R LB )
AR S RS LB L)
SERALE T FRFEyg AR LB~ )
B0 S ARG ©)
A RALE LT S TEE(R) ~)
B &7 e g AP 7)
RIBREECCR R LS A B 7))
B4 PR R A B 2)
A BALE AT R A LB 7))

$=Z% 97 14T =(R¥r)13:00 B iotkér

No 3 = b1 A & PR
R L oA B 7)) 13:40
L BALE K G gkl R AP 13:40
B9 EpE LR R APR) 13:40
A ERALE TS R kAP 13:40
B9 e e dhrk g - f R AP 13:40
BP9+ wped g = APE) 13:40

DL X L

E A B 7))

12



